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AcXfpgWo 
(\¥Op^r EdXp) 

ECONOMICS 
(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 80 
Time allowed : 3 hours Maximum Marks : 80 

 qHc\p HcHy q²¾crIV Hc} de} qH qBg \of²¾ \§Wc Wy N\y h}By 7 \¥²y¾ h²¾ & 
 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 

`t§I \¥²y¾ Wy kcvc qd§IV & 
 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 24 \of²¾ h²¾ & 
 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 
\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 
qdIVJy & 

  Please check that this question paper contains 7 printed pages. 

  Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 24 questions. 

  Please write down the Serial Number of the question before 
attempting it. 

  15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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qeAp\H q²¾cYyf : 

(i) Y}hp£ I¥Tp£ Yy gpcy \of²¾ kcvcr h²¾ & 

(ii) hc qBH \of²¾ Yy q²¾cZpqcW A¥H EgYy gph`Vy qYWy JBy h²¾ &  

(iii) \of²¾ g¥qIAp 1 – 4 AWy 13 – 16 ^htW N}Ry E¨Wc epdy \of²¾ h²¾, hc 
qBH \of²¾ Yp 1 A¥H h± & qB²¾ªp£ M~ hc \of²¾ Yp E¨Wc Hyed qB§H epH 
qeM qYG & 

(iv) \of²¾ g¥qIAp 5 – 6 AWy 17 – 18 N}Ry E¨Wc epdy \of²¾ h²¾, hc qBH 
\of²¾ Yy 3 A¥H h²¾ & hc qBH \of²¾ Yp E¨Wc Ap`W}c Wy 60 f^Yp£ W~ 
eZycy ²¾hs h}Vp MphrYp &  

(v) \of²¾ g¥qIAp 7 – 9 AWy 19 – 21 er N}Ry E¨Wc epdy \of²¾ h²¾, hc 
qBH \of²¾ Yy 4 A¥H h²¾ & hc qBH \of²¾ Yp E¨Wc Ap`W}c Wy  
70 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 

(vi) \of²¾ g¥qIAp 10 – 12 AWy 22 – 24 qeApqIApW`H E¨Wc epdy \of²¾ 
h²¾, hc qBH \of²¾ Yy 6 A¥H h²¾ & hc qBH \of²¾ Yp E¨Wc Ap`W}c 
Wy 100 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 

(vii) E¨Wc g¥Iy\ AWy UtHey h}Vy MphrYy h²¾ AWy H}qgf Hc} qH qY§Wr h}Br 
gr`p qe§M hr qY§Wy OpV & 

I¥T A 

1. OY~ 100 qBHpBrAp£ Yp EW\pY²¾ Hc²¾ Yr Htd gqXc dpJW < 30 h}ey AWy 

A¡gW \qcecW²¾frd (AgqXc) dpJW < 3 h}ey Wp£ Htd dpJW qBh h}eyJr : 

(ghr qeHd\ MtV}) 1 

(a) < 3 

(b) < 30 

(c) < 270 

(d) < 330 
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2. gHpcpW`H (ApYcfH) AcX fpgWc Yp qBH EYphcV qYG & 1 

3. gqXc dpJW Yr \qc_pfp qYG & 1 

4. OY~ A¡gW EW\pY eZ W~ eZ ht¥Yp h±, Wp gr`p£W EW\pY : (ghr qeHd\ 

MtV}) 1 

(a) A¡gW EW\pY Yy ^cp^c ht¥Yp h± 

(b) A¡gW EW\pY W~ KR ht¥Yp h± 

(c) A¡gW EW\pY W~ qkApYp ht¥Yp h± 

(d) E\cqdAp£ qeM~ H}Br er h} gHYp h± 

5. ^yd}M `¥J W~ Hr _pe h± ? \vcr Wcp£ ŷd}M `¥J ²¾pd qBgYr Wtd²¾p Hc} & 3 

6. ‘‘qHgYy dBr EW\pY²¾ HrWp OpBy’’ Yr HzYcr g`qgAp g`PpG & 3 

                        Op£ 

‘‘WH²¾rH Yy MtVpe’’ Yr HzYcr g`qgAp g`PpG &  3 

7. g_ W~ E\cdr Hr`W gr`p Yp q²¾cZpc²¾ W~ Hr _pe h± ? qBgYy \qcVp`  

g`PpG & 4 
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8. qBH egWv Yr Hr`W \Wp h}V Wy qBH E\_}JWp qBh qHez ³±gdp HcyJp qH 

Eh Eg egWv Yr qHW²¾r `pWcp IcrYy ? g`PpG & 4 

                        Op£ 

 A²¾qZ`p²¾ eHc Hr h± ? A²¾qZ`p²¾ eHc YrAp£ qW¥²¾ qefyfWpep£ Y§g} & 4  

9. OY~ qBH egWv Yr Hr`W < 4 \oWr qBHpBr W~ eZ Hy < 5 \oWr qBHpBr ht¥Yr 

h±, Wp£ qBgYr ^Opc \vcWr 100 qBHpBr W~ eZ Hy 120 qBHpBr h} Op£Yr h± & 

\vcWr Yr Hr`W d}M Yp dyIp Hc} & Hr \vcWr d}MYpc h± ? HpcV qYG & 4 

10. gr`p£W ApJ` (g`\op\Wr) AWy gr`p£W dpJW Yr ghpqBWp ²¾pd EW\pYH 

g¥Wtd²¾ YrAp£ fcWp£ g`PpG & 6 

11. ByHpqZHpcr \oqWa}JWp YrAp£ qW¥²¾ qefyfWpep£ qd§I} & qB²¾ªp£ qeM~ qHhmr 

qegyfWp qBg²¥¾v \vc²¾ \oqWa}JWp£ W~ e§I HcYr h± AWy qHE¤ ? 6 

Op£ 

hyS¾ qdqIAp£ Yy \qcVp` g`PpG : 6 

(a) \vc²¾ \oqWa}JWp qeM ³c`p£ Yy \oeyf Hc²¾ AWy EYa}J N}m²¾ Yr 

ApkpYr 

(b) Ad\pqZHpc qeM J±c-Hr`W \oqWa}JWp 

12. A²¾qZ`p²¾ (EYpgr²¾) eHc qefdyfV cphs qBH E\_}JWp Yy g¥Wtd²¾ YrAp£ 

fcWp£ g`PpG & 6 



226/2 5 P.T.O. 

I¥T ^ 

13. E\_}JWp eHc v̀d q^¥Yv W~ ftcv qHE¤ ²¾hs ht¥Yp ? 1 

14. HzYcr |̂H AOyhp HcHy qcV (EZpc) Yr E\d^Zr eZp gHYp h± : (ghr 
qeHd\ MtV}) 1 

(a) \t²¾cIcrY Yc (cy\} Yc) eZp Hy 

(b) \oqW\t²¾c IcrY Yc (qcecg cy\} Yc) eZp Hy 

(c) gcHpcr \oWr_vWrAp£ IcrY Hy 

(d) gcHpcr \oWr_vWrAp£ eyM Hy 

15. `tYcp Ap\vcWr Yr \qc_pfp qYG & 1 

16. hyS¾ qdqIAp£ qeM~ qHhmp cpfRcr Ap`Y²¾ ²¥¾v \o_peW HcYp h± ? (ghr qeHd\ 
MtV}) 1 

(a) egWv AWy gyep Hc 

(b) q²¾J` Hc 

(c) ApcqXH ghpqBWp 

(d) E\cqdAp£ qeM~ H}Br er ²¾hs 

17. JtVH Yr \qc_pfp qYG & gr`p£W E\_}J \cqecWr AWy JtVH Yy Ycq`Ap²¾ 
Hr g¥̂ ¥Z h± ? OyHc JtVH 4 h± Wp£ gr`p£W E\_}J \cqecWr Yy t̀d Yp dyIp 
Hc} & 3 

18. hyS¾ qdIrAp£ qeM~ qHhmrAp£ A¥qW` egWp£ h²¾ AWy qHhmrAp£ `ZecWr ? Hpc²¾ 
qYG & 3 

(a) Mph Yr YtHp²¾ Wy YtZ Yr IcrY 

(b) gHvd cphs ^g Yr IcrY 

(c) gHvd H±²¾Rr²¾ qeM~ qeqYApcXr cphs Ovg Yr IcrY 

                          Op£ 

gp`p²¾a (nominal) Ap`Y²¾ \Wp h}V Wy Ags epgWqeH Ap`Y²¾ qHez \Wp 
Hc gHYy hp£ ? g`PpG &  3 
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19. gr`p£W E\_}J \oqecWr Yp `t§d 0.6 h± AWy AcXqeegXp Yr `tUdr Ap`Y²¾ 

< 100 Hc}m h± & Ap`Y²¾, E\_}J AWy ^MW Ycgp£Yy h}By qBH gpcVr  

^VpG & OyHc gepaW (gepZr²¾) q²¾eyf < 80 Hc}m h}ey Wp£ Ap`Y²¾ Yp 

g¥Wtd²¾ gWc YcgpG & 4 

20. _pcWr qckce ^|H Yr ‘‘A¥W` qcVYpWp’’ Yy cv\ qeM _vq`Hp g`PpG &  4 

21. `tYopg³rqWHpcr A¥Wc W~ Hr _pe h± ? qBg ²¥¾v KR Hc²¾¾ Yy qW¥²¾ E\pA Y§g} & 4 

                          Op£ 

g`Jc `¥J W~ Hr _pe h± ? qBgYy KRH (A¥J) Y§g} & 4 

22. dyIp Hc} (a) ^Opc Hr`W E\c q²¾ed cpfRcr EW\pY, AWy (b) gpZ²¾ dpJW 

E\c gHd Kcydv EW\pY : 4+2=6  

   (<Hc}mp£ qeM)    

(i) qHcpqBAp AWy qeApO 6,000 

(ii) `kYvcr AWy q`h²¾Wp²¾p¾¾ 1,800 

(iii) AVe¥qTAp dp_  400 

(iv) q²¾ed A\oW§I Hc      100 

(v) ApcXH ghpqBWp   20 

(vi) q²¾J` Hc  120 

(vii) qeYyfp£ ²¥¾v q²¾ed HpcH Ap`Y²¾   70 

(viii) dp_ A¥f   80 

(ix) AMd \v¥Or Yp E\_}J   50 

(x) `pdHp£ (q²¾a}OHp£) cphs g`pOH gtcqIAp a}JYp²¾  200 

(xi) q`fcW Ap`Y²¾ 1,000 
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23. hyS¾ qdqIAp£ Yy AcX g`PpG : 6 

(a) cpOge (gcHpcr Ap`Y²¾) KpRp 

(b) cpOH}fr (gcHpcr IOp²y¾ Yp) KpRp 

(c) `tUdp KpRp 

                          Op£ 

gcHpcr ^OR Yy hyS¾ qd§Iy EYyf g`PpG :  6 

(a) g¥gpZ²¾p£ Yr e¥T 

(b) Ap`Y²¾ eIyqeAp£ ²¥¾v KR Hc²¾p 

24. (a) qeq²¾`y Yc Yy epZy ²¾pd \By cpfRcr Ap`Y²¾ E\c \o_pe g`PpG & 6 

(b) _tJWp²¾ g¥Wtd²¾ qeM ‘KpRy’ Yr Zpc²¾p g`PpG & 

100 


